
 
 

ООО «Мета-Е» Тел./факс +7 495 7782850 www: www.metae.ru e-mail: info@metae.ru 
Российская Федерация, 123995, г.Москва, Бережковская наб., д.20А, стр. 35. 
ИНН 7730632630, КПП 773001001 

 

 

 

 

 

 

СПЕЦИФИКАЦИЯ 

 
 

 

 

РАСШИФРОВКА АРТИКУЛА: 

Материал (XX): 

XX = 02 | 
Нержавеющая сталь 
A2 – 70 / AISI 304 

   

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

ЗАПРЕССОВОЧНЫЙ НЕВЫПАДАЮЩИЙ ВИНТ ДЛЯ 
КРЕПЛЕНИЯ ПАНЕЛЕЙ 

30319 
 

  

Артикул № Резьба M 

Длина выступающей 
части 

(свободное положение) 
P, мм 

Длина выступающей 
части 

(нажатое положение) 
G,мм 

Внешний 
диаметр  

D +/- 0.13 

Высота 
шляпки 
винта 

Y +/- 0.13 

Диаметр 
отверстия 

в заготовке 

Высота 
втулки 

B +/- 0.13 

Ход 
пружины 

X +/- 0.13 

30319.030.40.XX 

30319.030.62.XX 
M3 x 0,5 

0,0 

3,2 

6,40 

9,50 
7,90 1,90 6,75 7,20 4,80 

30319.040.50.XX 

30319.040.72.XX 

30319.040.94.XX 

M4 x 0.7 

0,0 

3,2 

6,4 

7,90 

11,10 

14,30 

9,50 2,15 7,79 9,30 6,40 

30319.050.50.XX 

30319.050.72.XX 

30319.050.94.XX 

M5 x 0.80 

0,0 

3,2 

6,4 

7,90 

11,10 

14,30 

10,30 2,15 8,75 9,30 6,40 

30319.060.60.XX 

30319.060.82.XX 

30319.060.04.XX 

M6 x 1.0 

0,0 

3,2 

6,4 

9,50 

12,70 

15,90 

11,90 2,54 10,50 12,00 7,90 


